

| La             | auderdale |                             |  |  |  |  |  |                                     | Assumes I<br>Proje                                     | ction   |   | Assur  | ounty Yield<br>nption                                  |
|----------------|-----------|-----------------------------|--|--|--|--|--|-------------------------------------|--|---|---|--|--|
| Crop Name      | Unit      | ARC-CO Yield<br>Designation | 2024 Benchmark Yield (2018-22 olympic avg) | 2024 Benchmark Price (2018-22 olympic avg) | 2024<br>Benchmark<br>Revenue<br>per Acre | 2024<br>Revenue<br>Guarantee<br>per Acre | 2024<br>Maximum<br>Payment<br>Rate per<br>Acre | 2024/25<br>MYA Price<br>Projections | County Yield<br>for Min<br>Payment Rate<br>per Acre 1/ | County Yield<br>for Max<br>Payment<br>Rate per Acre<br>1/ | 2024-25<br>County Yield<br>Assumption<br>2/ | MYA Price<br>for Min<br>Payment<br>Rate per<br>Acre 1/ | MYA Price<br>for Max<br>Payment<br>Rate per<br>Acre 1/ |
| Barley         | Bushel    | All                         | 54.00                                      | \$5.07                                     | \$273.78                                 | \$235.45                                 | \$27.38  | \$6.44                              | 36.56  | 32.31   | 54.00                                       | \$4.36   | \$3.85   |
| Canola         | Pound     | All                         | -  | -  | -  | -  | -  | \$0.1996                            | -  | -   | -   | -  | -  |
| Corn           | Bushel    | All                         | 185.93                                     | \$4.85                                     | \$901.76                                 | \$775.51                                 | \$90.18  | \$4.43                              | 175.06   | 154.70  | 185.93                                      | \$4.17   | \$3.69   |
| Corn           | Bushel    | Irrigated                   | -  | -  | -  | -  | -  | \$4.43                              | -  | -   | -   | -  | -  |
| Corn           | Bushel    | Nonirrigated                | -  | -  | -  | -  | -  | \$4.43                              | -  | -   | -   | -  | -  |
| Grain Sorghum  | Bushel    | All                         | 60.33                                      | \$5.01                                     | \$302.25                                 | \$259.94                                 | \$30.23  | \$4.40                              | 59.08  | 52.21   | 60.33                                       | \$4.31   | \$3.81   |
| Oats           | Bushel    | All                         | 47.33                                      | \$3.38                                     | \$159.98                                 | \$137.58                                 | \$16.00  | \$3.52                              | 39.08  | 34.54   | 47.33                                       | \$2.91   | \$2.57   |
| Peanuts        | Pound     | All                         | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound     | Irrigated                   | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound     | Nonirrigated                | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound     | All                         | 2,687.47                                   | \$0.40                                     | \$1,063.70                               | \$914.78                                 | \$106.37                                       | \$0.3509                            | 2,606.93   | 2,303.82  | 2,687.47                                    | \$0.34   | \$0.30   |
| Seed Cotton    | Pound     | Irrigated                   | -  | -  | -  | -  | -  | \$0.3509                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound     | Nonirrigated                | -  | -  | -  | -  | -  | \$0.3509                            | -  | -   | -   | -  | -  |
| Soybeans       | Bushel    | All                         | 44.73                                      | \$11.12                                    | \$497.40                                 | \$427.76                                 | \$49.74  | \$10.65                             | 40.16  | 35.49   | 44.73                                       | \$9.56   | \$8.45   |
| Soybeans       | Bushel    | Irrigated                   | -  | -  | -  | -  | -  | \$10.65                             | -  | -   | -   | -  | -  |
| Soybeans       | Bushel    | Nonirrigated                | -  | -  | -  | -  | -  | \$10.65                             | -  | -   | -   | -  | -  |
| Sunflower Seed | Pound     | All                         | -  | -  | -  | -  | -  | \$0.2081                            | -  | -   | -   | -  | -  |
| Wheat          | Bushel    | All                         | 76.26                                      | \$6.21                                     | \$473.57                                 | \$407.27                                 | \$47.36  | \$6.00                              | 67.88  | 59.99   | 76.26                                       | \$5.34   | \$4.72   |
| Wheat          | Bushel    | Irrigated                   | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |
| Wheat          | Bushel    | Nonirrigated                | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2018-2022 county yields



| L              | awrence |                             |  |  |  |  |  |                                     | Assumes I<br>Proje                                     |   |   | Assur  | ounty Yield<br>nption                                  |
|----------------|---------|-----------------------------|--|--|--|--|--|-------------------------------------|--|---|---|--|--|
| Crop Name      | Unit    | ARC-CO Yield<br>Designation | 2024 Benchmark Yield (2018-22 olympic avg) | 2024<br>Benchmark<br>Price<br>(2018-22<br>olympic avg) | 2024<br>Benchmark<br>Revenue<br>per Acre | 2024<br>Revenue<br>Guarantee<br>per Acre | 2024<br>Maximum<br>Payment<br>Rate per<br>Acre | 2024/25<br>MYA Price<br>Projections | County Yield<br>for Min<br>Payment Rate<br>per Acre 1/ | County Yield<br>for Max<br>Payment<br>Rate per Acre<br>1/ | 2024-25<br>County Yield<br>Assumption<br>2/ | MYA Price<br>for Min<br>Payment<br>Rate per<br>Acre 1/ | MYA Price<br>for Max<br>Payment<br>Rate per<br>Acre 1/ |
| Barley         | Bushel  | All                         | 48.50                                      | \$5.07   | \$245.90                                 | \$211.47                                 | \$24.59  | \$6.44                              | 32.84  | 29.02   | 48.50                                       | \$4.36   | \$3.85   |
| ,              |         | All                         |  |  |  | •  | \$24.59  | ,                                   |  |   |   | \$4.30   |  |
| Canola         | Pound   |                             | 1,473.00                                   | \$0.23   | \$344.24                                 | \$296.05                                 | \$34.42  | \$0.1996                            | 1,483.17   | 1,310.77  | 1,473.00                                    | \$0.20   | \$0.18   |
| Corn           | Bushel  | All                         | -  | -  | -  | -  | -  | \$4.43                              | -  | -   | -   | -  | -  |
| Corn           | Bushel  | Irrigated                   | 221.62                                     | \$4.85   | \$1,074.86                               | \$924.38                                 | \$107.49                                       | \$4.43                              | 208.66   | 184.40  | 221.62                                      | \$4.17   | \$3.69   |
| Corn           | Bushel  | Nonirrigated                | 182.20                                     | \$4.85   | \$883.67                                 | \$759.96                                 | \$88.37  | \$4.43                              | 171.55   | 151.60  | 182.20                                      | \$4.17   | \$3.69   |
| Grain Sorghum  | Bushel  | All                         | 51.87                                      | \$5.01   | \$259.87                                 | \$223.49                                 | \$25.99  | \$4.40                              | 50.79  | 44.89   | 51.87                                       | \$4.31   | \$3.81   |
| Oats           | Bushel  | All                         | 45.00                                      | \$3.38   | \$152.10                                 | \$130.81                                 | \$15.21  | \$3.52                              | 37.16  | 32.84   | 45.00                                       | \$2.91   | \$2.57   |
| Peanuts        | Pound   | All                         | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound   | Irrigated                   | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound   | Nonirrigated                | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound   | All                         | 2,502.62                                   | \$0.40   | \$990.54                                 | \$851.86                                 | \$99.05  | \$0.3509                            | 2,427.61   | 2,145.37  | 2,502.62                                    | \$0.34   | \$0.30   |
| Seed Cotton    | Pound   | Irrigated                   | -  | -  | -  | -  | -  | \$0.3509                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound   | Nonirrigated                | -  | -  | -  | -  | -  | \$0.3509                            | -  | -   | -   | -  | -  |
| Soybeans       | Bushel  | All                         | -  | -  | -  | -  | -  | \$10.65                             | -  | -   | -   | -  | -  |
| Soybeans       | Bushel  | Irrigated                   | 58.09                                      | \$11.12  | \$645.96                                 | \$555.53                                 | \$64.60  | \$10.65                             | 52.16  | 46.10   | 58.09                                       | \$9.56   | \$8.45   |
| Soybeans       | Bushel  | Nonirrigated                | 42.37                                      | \$11.12  | \$471.15                                 | \$405.19                                 | \$47.12  | \$10.65                             | 38.05  | 33.62   | 42.37                                       | \$9.56   | \$8.45   |
| Sunflower Seed | Pound   | All                         | 1,101.00                                   | \$0.23   | \$254.11                                 | \$218.53                                 | \$25.41  | \$0.2081                            | 1,050.07   | 928.02  | 1,101.00                                    | \$0.20   | \$0.18   |
| Wheat          | Bushel  | All                         | 77.39                                      | \$6.21   | \$480.59                                 | \$413.31                                 | \$48.06  | \$6.00                              | 68.88  | 60.88   | 77.39                                       | \$5.34   | \$4.72   |
| Wheat          | Bushel  | Irrigated                   | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |
| Wheat          | Bushel  | Nonirrigated                | -  | <u>-</u> _   | -  |  | -  | \$6.00                              |  |   |   |  |  |

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2018-2022 county yields



|                | Lee    |                             |  |  |  |  |  |                                     | Assumes I<br>Proje                                     | ction   |   | Assur  | ounty Yield<br>nption                                  |
|----------------|--------|-----------------------------|--|--|--|--|--|-------------------------------------|--|---|---|--|--|
| Crop Name      | Unit   | ARC-CO Yield<br>Designation | 2024<br>Benchmark<br>Yield<br>(2018-22<br>olympic avg) | 2024 Benchmark Price (2018-22 olympic avg) | 2024<br>Benchmark<br>Revenue<br>per Acre | 2024<br>Revenue<br>Guarantee<br>per Acre | 2024<br>Maximum<br>Payment<br>Rate per<br>Acre | 2024/25<br>MYA Price<br>Projections | County Yield<br>for Min<br>Payment Rate<br>per Acre 1/ | County Yield<br>for Max<br>Payment<br>Rate per Acre<br>1/ | 2024-25<br>County Yield<br>Assumption<br>2/ | MYA Price<br>for Min<br>Payment<br>Rate per<br>Acre 1/ | MYA Price<br>for Max<br>Payment<br>Rate per<br>Acre 1/ |
| Barley         | Bushel | All                         | _  | _  | _  | _  | _  | \$6.44                              | _  | _   | _   | _  | _  |
| Canola         | Pound  | All                         | _  | _  | _  | _  | _  | \$0.1996                            | _  | _   | _   | _  | _  |
| Corn           | Bushel | All                         | 127.33   | \$4.85                                     | \$617.55                                 | \$531.09                                 | \$61.76  | \$4.43                              | 119.88   | 105.94  | 127.33                                      | \$4.17   | \$3.69   |
| Corn           | Bushel | Irrigated                   | -  | -  | -  | -  | -  | \$4.43                              | -  | -   | -   | -  | -  |
| Corn           | Bushel | Nonirrigated                | -  | -  | _  | _  | -  | \$4.43                              | -  | -   | -   | -  | _  |
| Grain Sorghum  | Bushel | All                         | 47.20  | \$5.01                                     | \$236.47                                 | \$203.36                                 | \$23.65  | \$4.40                              | 46.22  | 40.84   | 47.20                                       | \$4.31   | \$3.81   |
| Oats           | Bushel | All                         | 52.73  | \$3.38                                     | \$178.23                                 | \$153.28                                 | \$17.82  | \$3.52                              | 43.54  | 38.48   | 52.73                                       | \$2.91   | \$2.57   |
| Peanuts        | Pound  | All                         | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound  | Irrigated                   | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound  | Nonirrigated                | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound  | All                         | 2,172.38   | \$0.40                                     | \$859.83                                 | \$739.45                                 | \$85.98  | \$0.3509                            | 2,107.27   | 1,862.27  | 2,172.38                                    | \$0.34   | \$0.30   |
| Seed Cotton    | Pound  | Irrigated                   | -  | -  | -  | -  | -  | \$0.3509                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound  | Nonirrigated                | -  | -  | -  | -  | -  | \$0.3509                            | -  | -   | -   | -  | -  |
| Soybeans       | Bushel | All                         | 34.50  | \$11.12                                    | \$383.64                                 | \$329.93                                 | \$38.36  | \$10.65                             | 30.98  | 27.38   | 34.50                                       | \$9.56   | \$8.45   |
| Soybeans       | Bushel | Irrigated                   | -  | -  | -  | -  | -  | \$10.65                             | -  | -   | -   | -  | -  |
| Soybeans       | Bushel | Nonirrigated                | -  | -  | -  | -  | -  | \$10.65                             | -  | -   | -   | -  | -  |
| Sunflower Seed | Pound  | All                         | -  | -  | -  | -  | -  | \$0.2081                            | -  | -   | -   | -  | -  |
| Wheat          | Bushel | All                         | 57.87  | \$6.21                                     | \$359.37                                 | \$309.06                                 | \$35.94  | \$6.00                              | 51.51  | 45.52   | 57.87                                       | \$5.34   | \$4.72   |
| Wheat          | Bushel | Irrigated                   | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |
| Wheat          | Bushel | Nonirrigated                | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2018-2022 county yields



| u              | mestone |                             |  |  |  |  |  |                                     | Assumes I<br>Proje                                     |   |   |  | ounty Yield<br>nption                                  |
|----------------|---------|-----------------------------|--|--|--|--|--|-------------------------------------|--|---|---|--|--|
| Crop Name      | Unit    | ARC-CO Yield<br>Designation | 2024 Benchmark Yield (2018-22 olympic avg) | 2024<br>Benchmark<br>Price<br>(2018-22<br>olympic avg) | 2024<br>Benchmark<br>Revenue<br>per Acre | 2024<br>Revenue<br>Guarantee<br>per Acre | 2024<br>Maximum<br>Payment<br>Rate per<br>Acre | 2024/25<br>MYA Price<br>Projections | County Yield<br>for Min<br>Payment Rate<br>per Acre 1/ | County Yield<br>for Max<br>Payment<br>Rate per Acre<br>1/ | 2024-25<br>County Yield<br>Assumption<br>2/ | MYA Price<br>for Min<br>Payment<br>Rate per<br>Acre 1/ | MYA Price<br>for Max<br>Payment<br>Rate per<br>Acre 1/ |
| Barley         | Bushel  | All                         | 45.20                                      | \$5.07   | \$229.16                                 | \$197.08                                 | \$22.92  | \$6.44                              | 30.60  | 27.04   | 45.20                                       | \$4.36   | \$3.85   |
| Canola         |         | All                         | 2,192.00                                   | \$0.23   | \$512.27                                 | \$440.55                                 | \$51.23  | \$0.1996                            | 2,207.11   | 1,950.50  | 2,192.00                                    | \$0.20   | \$0.18   |
|                | Pound   |                             | 2,192.00                                   | \$0.23   | \$512.27                                 | \$440.55                                 | \$51.25  | '                                   | 2,207.11   | 1,950.50  | 2,192.00                                    | \$0.20   | \$0.18   |
| Corn           | Bushel  | All                         | 240.05                                     | -  | -  | -  | -  | \$4.43                              | - 226.04   | -   | - 240.05                                    | -  | -  |
| Corn           | Bushel  | Irrigated                   | 240.05                                     | \$4.85   | \$1,164.24                               | \$1,001.25                               | \$116.42                                       | \$4.43                              | 226.01   | 199.74  | 240.05                                      | \$4.17   | \$3.69   |
| Corn           | Bushel  | Nonirrigated                | 180.80                                     | \$4.85   | \$876.88                                 | \$754.12                                 | \$87.69  | \$4.43                              | 170.23   | 150.44  | 180.80                                      | \$4.17   | \$3.69   |
| Grain Sorghum  | Bushel  | All                         | 57.93                                      | \$5.01   | \$290.23                                 | \$249.60                                 | \$29.02  | \$4.40                              | 56.73  | 50.13   | 57.93                                       | \$4.31   | \$3.81   |
| Oats           | Bushel  | All                         | 47.67                                      | \$3.38   | \$161.12                                 | \$138.56                                 | \$16.11  | \$3.52                              | 39.36  | 34.79   | 47.67                                       | \$2.91   | \$2.57   |
| Peanuts        | Pound   | All                         | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound   | Irrigated                   | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound   | Nonirrigated                | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound   | All                         | -  |  | -  | -  | -  | \$0.3509                            | -  | -   | -   |  |  |
| Seed Cotton    | Pound   | Irrigated                   | 3,619.90                                   | \$0.40   | \$1,432.76                               | \$1,232.17                               | \$143.28                                       | \$0.3509                            | 3,511.43   | 3,103.13  | 3,619.90                                    | \$0.34   | \$0.30   |
| Seed Cotton    | Pound   | Nonirrigated                | 2,664.43                                   | \$0.40   | \$1,054.58                               | \$906.94                                 | \$105.46                                       | \$0.3509                            | 2,584.58   | 2,284.07  | 2,664.43                                    | \$0.34   | \$0.30   |
| Soybeans       | Bushel  | All                         | -  | <del>-</del>   | -  | -  | -  | \$10.65                             | -  | -   | -   | -  | -  |
| Soybeans       | Bushel  | Irrigated                   | 63.69                                      | \$11.12  | \$708.23                                 | \$609.08                                 | \$70.82  | \$10.65                             | 57.19  | 50.54   | 63.69                                       | \$9.56   | \$8.45   |
| Soybeans       | Bushel  | Nonirrigated                | 40.79                                      | \$11.12  | \$453.58                                 | \$390.08                                 | \$45.36  | \$10.65                             | 36.63  | 32.37   | 40.79                                       | \$9.56   | \$8.45   |
| Sunflower Seed | Pound   | All                         | 1,101.00                                   | \$0.23   | \$254.11                                 | \$218.53                                 | \$25.41  | \$0.2081                            | 1,050.07   | 928.02  | 1,101.00                                    | \$0.20   | \$0.18   |
| Wheat          | Bushel  | All                         | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |
| Wheat          | Bushel  | Irrigated                   | 85.36                                      | \$6.21   | \$530.09                                 | \$455.88                                 | \$53.01  | \$6.00                              | 75.98  | 67.15   | 85.36                                       | \$5.34   | \$4.72   |
| Wheat          | Bushel  | Nonirrigated                | 74.41                                      | \$6.21   | \$462.09                                 | \$397.40                                 | \$46.21  | \$6.00                              | 66.23  | 58.53   | 74.41                                       | \$5.34   | \$4.72   |

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2018-2022 county yields



| ı              | owndes |                             |  |  |  |  |  |                                     | Assumes I<br>Proje                                     | ction   |   | Assur  | ounty Yield<br>nption                                  |
|----------------|--------|-----------------------------|--|--|--|--|--|-------------------------------------|--|---|---|--|--|
| Crop Name      | Unit   | ARC-CO Yield<br>Designation | 2024 Benchmark Yield (2018-22 olympic avg) | 2024 Benchmark Price (2018-22 olympic avg) | 2024<br>Benchmark<br>Revenue<br>per Acre | 2024<br>Revenue<br>Guarantee<br>per Acre | 2024<br>Maximum<br>Payment<br>Rate per<br>Acre | 2024/25<br>MYA Price<br>Projections | County Yield<br>for Min<br>Payment Rate<br>per Acre 1/ | County Yield<br>for Max<br>Payment<br>Rate per Acre<br>1/ | 2024-25<br>County Yield<br>Assumption<br>2/ | MYA Price<br>for Min<br>Payment<br>Rate per<br>Acre 1/ | MYA Price<br>for Max<br>Payment<br>Rate per<br>Acre 1/ |
| Barley         | Bushel | All                         | _  | _  | _  | _  | -  | \$6.44                              | _  | -   | _   | _  | _  |
| Canola         | Pound  | All                         | -  | -  | -  | -  | -  | \$0.1996                            | -  | -   | -   | -  | -  |
| Corn           | Bushel | All                         | 142.14                                     | \$4.85                                     | \$689.38                                 | \$592.87                                 | \$68.94  | \$4.43                              | 133.83   | 118.27  | 142.14                                      | \$4.17   | \$3.69   |
| Corn           | Bushel | Irrigated                   | -  | ·<br>-                                     | -  | ·<br>-                                   |  | \$4.43                              | -  | -   | -   |  | · -  |
| Corn           | Bushel | Nonirrigated                | -  | -  | -  | -  | -  | \$4.43                              | -  | -   | -   | -  | -  |
| Grain Sorghum  | Bushel | All                         | -  | -  | -  | -  | -  | \$4.40                              | -  | -   | -   | -  | -  |
| Oats           | Bushel | All                         | 50.33                                      | \$3.38                                     | \$170.12                                 | \$146.30                                 | \$17.01  | \$3.52                              | 41.56  | 36.73   | 50.33                                       | \$2.91   | \$2.57   |
| Peanuts        | Pound  | All                         | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound  | Irrigated                   | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound  | Nonirrigated                | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound  | All                         | 1,867.39                                   | \$0.40                                     | \$739.11                                 | \$635.63                                 | \$73.91  | \$0.3509                            | 1,811.40   | 1,600.80  | 1,867.39                                    | \$0.34   | \$0.30   |
| Seed Cotton    | Pound  | Irrigated                   | -  | -  | -  | -  | -  | \$0.3509                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound  | Nonirrigated                | -  | -  | -  | -  | -  | \$0.3509                            | -  | -   | -   | -  | -  |
| Soybeans       | Bushel | All                         | 41.49                                      | \$11.12                                    | \$461.37                                 | \$396.78                                 | \$46.14  | \$10.65                             | 37.26  | 32.92   | 41.49                                       | \$9.56   | \$8.45   |
| Soybeans       | Bushel | Irrigated                   | -  | -  | -  | -  | -  | \$10.65                             | -  | -   | -   | -  | -  |
| Soybeans       | Bushel | Nonirrigated                | -  | -  | -  | -  | -  | \$10.65                             | -  | -   | -   | -  | -  |
| Sunflower Seed | Pound  | All                         | -  | -  | -  | -  | -  | \$0.2081                            | -  | -   | -   | -  | -  |
| Wheat          | Bushel | All                         | 43.57                                      | \$6.21                                     | \$270.57                                 | \$232.69                                 | \$27.06  | \$6.00                              | 38.78  | 34.27   | 43.57                                       | \$5.34   | \$4.72   |
| Wheat          | Bushel | Irrigated                   | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |
| Wheat          | Bushel | Nonirrigated                | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2018-2022 county yields



|                | Macon  |                             |  |  |  |  |  |                                     | Assumes I<br>Proje                                     |   |   |  | County Yield<br>mption                                 |
|----------------|--------|-----------------------------|--|--|--|--|--|-------------------------------------|--|---|---|--|--|
| Crop Name      | Unit   | ARC-CO Yield<br>Designation | 2024<br>Benchmark<br>Yield<br>(2018-22<br>olympic avg) | 2024 Benchmark Price (2018-22 olympic avg) | 2024<br>Benchmark<br>Revenue<br>per Acre | 2024<br>Revenue<br>Guarantee<br>per Acre | 2024<br>Maximum<br>Payment<br>Rate per<br>Acre | 2024/25<br>MYA Price<br>Projections | County Yield<br>for Min<br>Payment Rate<br>per Acre 1/ | County Yield<br>for Max<br>Payment<br>Rate per Acre<br>1/ | 2024-25<br>County Yield<br>Assumption<br>2/ | MYA Price<br>for Min<br>Payment<br>Rate per<br>Acre 1/ | MYA Price<br>for Max<br>Payment<br>Rate per<br>Acre 1/ |
| Barley         | Bushel | All                         | _  | _  | _  | _  | _  | \$6.44                              | _  | _   | _   | _  | _  |
| Canola         | Pound  | All                         | _  | _  | _  | _  | _  | \$0.1996                            | _  | _   | _   | -  | _  |
| Corn           | Bushel | All                         | 165.15   | \$4.85                                     | \$800.98                                 | \$688.84                                 | \$80.10  | \$4.43                              | 155.49   | 137.41  | 165.15                                      | \$4.17   | \$3.69   |
| Corn           | Bushel | Irrigated                   | -  | -  | -  | -  | -  | \$4.43                              | -  | -   | -   | -  | -  |
| Corn           | Bushel | Nonirrigated                | -  | _  | _  | -  | -  | \$4.43                              | -  | -   | -   | -  | _  |
| Grain Sorghum  | Bushel | All                         | 42.53  | \$5.01                                     | \$213.08                                 | \$183.25                                 | \$21.31  | \$4.40                              | 41.65  | 36.80   | 42.53                                       | \$4.31   | \$3.81   |
| Oats           | Bushel | All                         | 52.93  | \$3.38                                     | \$178.90                                 | \$153.85                                 | \$17.89  | \$3.52                              | 43.70  | 38.63   | 52.93                                       | \$2.91   | \$2.57   |
| Peanuts        | Pound  | All                         | 3,432.44   | \$0.27                                     | \$918.18                                 | \$789.63                                 | \$91.82  | \$0.2535                            | 3,114.87   | 2,752.70  | 3,432.44                                    | \$0.23   | \$0.20   |
| Peanuts        | Pound  | Irrigated                   | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound  | Nonirrigated                | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound  | All                         | 1,825.75   | \$0.40                                     | \$722.63                                 | \$621.46                                 | \$72.26  | \$0.3509                            | 1,771.02   | 1,565.12  | 1,825.75                                    | \$0.34   | \$0.30   |
| Seed Cotton    | Pound  | Irrigated                   | -  | -  | -  | -  | -  | \$0.3509                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound  | Nonirrigated                | -  | -  | -  | -  | -  | \$0.3509                            | -  | -   | -   | -  | -  |
| Soybeans       | Bushel | All                         | 31.86  | \$11.12                                    | \$354.28                                 | \$304.68                                 | \$35.43  | \$10.65                             | 28.61  | 25.28   | 31.86                                       | \$9.56   | \$8.45   |
| Soybeans       | Bushel | Irrigated                   | -  | -  | -  | -  | -  | \$10.65                             | -  | -   | -   | -  | -  |
| Soybeans       | Bushel | Nonirrigated                | -  | -  | -  | -  | -  | \$10.65                             | -  | -   | -   | -  | -  |
| Sunflower Seed | Pound  | All                         | -  | -  | -  | -  | -  | \$0.2081                            | -  | -   | -   | -  | -  |
| Wheat          | Bushel | All                         | 56.93  | \$6.21                                     | \$353.54                                 | \$304.04                                 | \$35.35  | \$6.00                              | 50.67  | 44.78   | 56.93                                       | \$5.34   | \$4.72   |
| Wheat          | Bushel | Irrigated                   | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |
| Wheat          | Bushel | Nonirrigated                | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2018-2022 county yields



| 1              | Madison |                             |  |  |  |  |  |                                     | Assumes I<br>Proje                                     |   |   | Assun  | ounty Yield<br>nption                                  |
|----------------|---------|-----------------------------|--|--|--|--|--|-------------------------------------|--|---|---|--|--|
| Crop Name      | Unit    | ARC-CO Yield<br>Designation | 2024 Benchmark Yield (2018-22 olympic avg) | 2024 Benchmark Price (2018-22 olympic avg) | 2024<br>Benchmark<br>Revenue<br>per Acre | 2024<br>Revenue<br>Guarantee<br>per Acre | 2024<br>Maximum<br>Payment<br>Rate per<br>Acre | 2024/25<br>MYA Price<br>Projections | County Yield<br>for Min<br>Payment Rate<br>per Acre 1/ | County Yield<br>for Max<br>Payment<br>Rate per Acre<br>1/ | 2024-25<br>County Yield<br>Assumption<br>2/ | MYA Price<br>for Min<br>Payment<br>Rate per<br>Acre 1/ | MYA Price<br>for Max<br>Payment<br>Rate per<br>Acre 1/ |
| Barley         | Bushel  | All                         | _  | _  | _  | _  | _  | \$6.44                              | _  | _   | _   | _  | _  |
| Canola         | Pound   | All                         | 1,509.67                                   | \$0.23                                     | \$352.81                                 | \$303.42                                 | \$35.28  | \$0.1996                            | 1,520.09   | 1,343.39  | 1,509.67                                    | \$0.20   | \$0.18   |
| Corn           | Bushel  | All                         | 1,303.07                                   | Ş0.23                                      | Ç332.81                                  | 7303.4Z                                  | 733.20   | \$4.43                              | 1,320.03   | 1,545.55  | 1,303.07                                    | <b>70.20</b>   | Ş0.16  |
| Corn           | Bushel  | Irrigated                   | 236.34                                     | \$4.85                                     | \$1,146.25                               | \$985.78                                 | \$114.63                                       | \$4.43                              | 222.52   | 196.65  | 236.34                                      | \$4.17   | \$3.69   |
| Corn           | Bushel  | Nonirrigated                | 178.55                                     | \$4.85                                     | \$865.97                                 | \$744.73                                 | \$86.60  | \$4.43                              | 168.11   | 148.56  | 178.55                                      | \$4.17   | \$3.69   |
| Grain Sorghum  | Bushel  | All                         | 50.87                                      | \$5.01                                     | \$254.86                                 | \$219.18                                 | \$25.49  | \$4.43                              | 49.81  | 44.02   | 50.87                                       | \$4.17   | \$3.81   |
| Oats           | Bushel  | All                         | 47.67                                      | \$3.38                                     | \$161.12                                 | \$138.56                                 | \$16.11  | \$3.52                              | 39.36  | 34.79   | 47.67                                       | \$2.91   | \$2.57   |
| Peanuts        | Pound   | All                         | -7.07                                      | -  | 7101.12                                  | γ130.30<br>-                             | 710.11   | \$0.2535                            | 33.30  | 34.73   | -7.07                                       | γ2.31<br>-   | γ2.57<br>-   |
| Peanuts        | Pound   | Irrigated                   | _  | _  | _  | _  | _  | \$0.2535                            | _  | _   | _   | _  | _  |
| Peanuts        | Pound   | Nonirrigated                | _  | _  | _  | _  | _  | \$0.2535                            | _  | _   | _   | _  | _  |
| Seed Cotton    | Pound   | All                         | _  | _  | _  | _  | _  | \$0.3509                            | _  | _   | _   | _  | _  |
| Seed Cotton    | Pound   | Irrigated                   | 3,564.24                                   | \$0.40                                     | \$1.410.73                               | \$1.213.23                               | \$141.07                                       | \$0.3509                            | 3,457.45   | 3.055.46  | 3,564.24                                    | \$0.34   | \$0.30   |
| Seed Cotton    | Pound   | Nonirrigated                | 2,525.64                                   | \$0.40                                     | \$999.65                                 | \$859.70                                 | \$99.97  | \$0.3509                            | 2,449.96   | 2,165.09  | 2,525.64                                    | \$0.34   | \$0.30   |
| Soybeans       | Bushel  | All                         | -  | -  | -  | -  | -  | \$10.65                             | -,   | -   | -   | -  | -  |
| Soybeans       | Bushel  | Irrigated                   | 60.67                                      | \$11.12                                    | \$674.65                                 | \$580.20                                 | \$67.47  | \$10.65                             | 54.48  | 48.14   | 60.67                                       | \$9.56   | \$8.45   |
| Soybeans       | Bushel  | Nonirrigated                | 44.55                                      | \$11.12                                    | \$495.40                                 | \$426.04                                 | \$49.54  | \$10.65                             | 40.00  | 35.35   | 44.55                                       | \$9.56   | \$8.45   |
| Sunflower Seed | Pound   | All                         | -  |  | -  | ,<br>-                                   |  | \$0.2081                            | -  | -   | -   | -  |  |
| Wheat          | Bushel  | All                         | 74.88                                      | \$6.21                                     | \$465.00                                 | \$399.90                                 | \$46.50  | \$6.00                              | 66.65  | 58.90   | 74.88                                       | \$5.34   | \$4.72   |
| Wheat          | Bushel  | Irrigated                   | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |
| Wheat          | Bushel  | Nonirrigated                | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2018-2022 county yields



| r              | Marengo |                             |  |  |  |  |  |   |                                     | Assumes I<br>Proje                                     |   |   |  | ounty Yield<br>nption                                  |
|----------------|---------|-----------------------------|--|--|--|--|--|---|-------------------------------------|--|---|---|--|--|
| Crop Name      | Unit    | ARC-CO Yield<br>Designation | 2024<br>Benchmark<br>Yield<br>(2018-22<br>olympic avg) | 2024<br>Benchmark<br>Price<br>(2018-22<br>olympic avg) | 2024<br>Benchmark<br>Revenue<br>per Acre | 2024<br>Revenue<br>Guarantee<br>per Acre | 2024<br>Maximum<br>Payment<br>Rate per<br>Acre | r | 2024/25<br>MYA Price<br>Projections | County Yield<br>for Min<br>Payment Rate<br>per Acre 1/ | County Yield<br>for Max<br>Payment<br>Rate per Acre<br>1/ | 2024-25<br>County Yield<br>Assumption<br>2/ | MYA Price<br>for Min<br>Payment<br>Rate per<br>Acre 1/ | MYA Price<br>for Max<br>Payment<br>Rate per<br>Acre 1/ |
| Barley         | Bushel  | All                         | _  | _  | _  | _  | _  |   | \$6.44                              | _  | _   | _   | _  | _  |
| Canola         | Pound   | All                         | -  | _  | _  | _  | _  |   | \$0.1996                            | -  | _   | _   | _  | _  |
| Corn           | Bushel  | All                         | 128.16   | \$4.85   | \$621.58                                 | \$534.56                                 | \$62.16  |   | \$4.43                              | 120.67   | 106.64  | 128.16                                      | \$4.17   | \$3.69   |
| Corn           | Bushel  | Irrigated                   | -  | -  | -  | -  | -  |   | \$4.43                              | -  | -   | -   | -  | -  |
| Corn           | Bushel  | Nonirrigated                | -  | _  | -  | _  | -  |   | \$4.43                              | -  | -   | -   | -  | -  |
| Grain Sorghum  | Bushel  | All                         | 43.00  | \$5.01   | \$215.43                                 | \$185.27                                 | \$21.54  |   | \$4.40                              | 42.10  | 37.21   | 43.00                                       | \$4.31   | \$3.81   |
| Oats           | Bushel  | All                         | -  | -  | -  | -  | -  |   | \$3.52                              | -  | -   | -   | -  | -  |
| Peanuts        | Pound   | All                         | -  | -  | -  | -  | -  |   | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound   | Irrigated                   | -  | -  | -  | -  | -  |   | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound   | Nonirrigated                | -  | -  | -  | -  | -  |   | \$0.2535                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound   | All                         | 1,661.54   | \$0.40   | \$657.64                                 | \$565.57                                 | \$65.76  |   | \$0.3509                            | 1,611.74   | 1,424.37  | 1,661.54                                    | \$0.34   | \$0.30   |
| Seed Cotton    | Pound   | Irrigated                   | -  | -  | -  | -  | -  |   | \$0.3509                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound   | Nonirrigated                | -  | -  | -  | -  | -  |   | \$0.3509                            | -  | -   | -   | -  | -  |
| Soybeans       | Bushel  | All                         | 27.07  | \$11.12  | \$301.02                                 | \$258.88                                 | \$30.10  |   | \$10.65                             | 24.31  | 21.48   | 27.07                                       | \$9.56   | \$8.45   |
| Soybeans       | Bushel  | Irrigated                   | -  | -  | -  | -  | -  |   | \$10.65                             | -  | -   | -   | -  | -  |
| Soybeans       | Bushel  | Nonirrigated                | -  | -  | -  | -  | -  |   | \$10.65                             | -  | -   | -   | -  | -  |
| Sunflower Seed | Pound   | All                         | -  | -  | -  | -  | -  |   | \$0.2081                            | -  | -   | -   | -  | -  |
| Wheat          | Bushel  | All                         | 42.00  | \$6.21   | \$260.82                                 | \$224.31                                 | \$26.08  |   | \$6.00                              | 37.38  | 33.04   | 42.00                                       | \$5.34   | \$4.72   |
| Wheat          | Bushel  | Irrigated                   | -  | -  | -  | -  | -  |   | \$6.00                              | -  | -   | -   | -  | -  |
| Wheat          | Bushel  | Nonirrigated                | -  | -  | -  | -  | -  |   | \$6.00                              | -  | -   | -   | -  | -  |

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2018-2022 county yields



|                | Marion |                             |  |  |  |  |  |                                     | Assumes I<br>Proje                                     |   |   |  | County Yield mption                                    |
|----------------|--------|-----------------------------|--|--|--|--|--|-------------------------------------|--|---|---|--|--|
| Crop Name      | Unit   | ARC-CO Yield<br>Designation | 2024 Benchmark Yield (2018-22 olympic avg) | 2024<br>Benchmark<br>Price<br>(2018-22<br>olympic avg) | 2024<br>Benchmark<br>Revenue<br>per Acre | 2024<br>Revenue<br>Guarantee<br>per Acre | 2024<br>Maximum<br>Payment<br>Rate per<br>Acre | 2024/25<br>MYA Price<br>Projections | County Yield<br>for Min<br>Payment Rate<br>per Acre 1/ | County Yield<br>for Max<br>Payment<br>Rate per Acre<br>1/ | 2024-25<br>County Yield<br>Assumption<br>2/ | MYA Price<br>for Min<br>Payment<br>Rate per<br>Acre 1/ | MYA Price<br>for Max<br>Payment<br>Rate per<br>Acre 1/ |
| Barley         | Bushel | All                         | _  | _  | _  | _  | _  | \$6.44                              | _  | _   | _   | _  | _  |
| Canola         | Pound  | All                         | -  | -  | _  | -  | _  | \$0.1996                            | _  | _   | _   | -  | _  |
| Corn           | Bushel | All                         | 154.50                                     | \$4.85   | \$749.33                                 | \$644.42                                 | \$74.93  | \$4.43                              | 145.47   | 128.55  | 154.50                                      | \$4.17   | \$3.69   |
| Corn           | Bushel | Irrigated                   | -  | -  | -  | -  | -  | \$4.43                              | -  | -   | -   | ,<br>-   | -  |
| Corn           | Bushel | Nonirrigated                | -  | -  | -  | -  | -  | \$4.43                              | -  | -   | -   | -  | -  |
| Grain Sorghum  | Bushel | All                         | 47.87                                      | \$5.01   | \$239.83                                 | \$206.25                                 | \$23.98  | \$4.40                              | 46.87  | 41.43   | 47.87                                       | \$4.31   | \$3.81   |
| Oats           | Bushel | All                         | -  | -  | -  | -  | -  | \$3.52                              | -  | -   | -   | -  | -  |
| Peanuts        | Pound  | All                         | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound  | Irrigated                   | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound  | Nonirrigated                | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound  | All                         | 2,356.61                                   | \$0.40   | \$932.75                                 | \$802.17                                 | \$93.28  | \$0.3509                            | 2,286.01   | 2,020.21  | 2,356.61                                    | \$0.34   | \$0.30   |
| Seed Cotton    | Pound  | Irrigated                   | -  | -  | -  | -  | -  | \$0.3509                            | -  | -   | -   | -  | i - I  |
| Seed Cotton    | Pound  | Nonirrigated                | -  | -  | -  | -  | -  | \$0.3509                            | -  | -   | -   | -  | i - I  |
| Soybeans       | Bushel | All                         | 48.47                                      | \$11.12  | \$538.99                                 | \$463.53                                 | \$53.90  | \$10.65                             | 43.52  | 38.46   | 48.47                                       | \$9.56   | \$8.45   |
| Soybeans       | Bushel | Irrigated                   | -  | -  | -  | -  | -  | \$10.65                             | -  | -   | -   | -  | i - I  |
| Soybeans       | Bushel | Nonirrigated                | -  | -  | -  | -  | -  | \$10.65                             | -  | -   | -   | -  | i - I  |
| Sunflower Seed | Pound  | All                         | 1,101.00                                   | \$0.23   | \$254.11                                 | \$218.53                                 | \$25.41  | \$0.2081                            | 1,050.07   | 928.02  | 1,101.00                                    | \$0.20   | \$0.18   |
| Wheat          | Bushel | All                         | 55.93                                      | \$6.21   | \$347.33                                 | \$298.70                                 | \$34.73  | \$6.00                              | 49.78  | 44.00   | 55.93                                       | \$5.34   | \$4.72   |
| Wheat          | Bushel | Irrigated                   | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | i - I  |
| Wheat          | Bushel | Nonirrigated                | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2018-2022 county yields



| ı              | Marshall |                             |  |  |  |  |  |                                     | Assumes I<br>Proje                                     | ction   |   |  | ounty Yield<br>nption                                  |
|----------------|----------|-----------------------------|--|--|--|--|--|-------------------------------------|--|---|---|--|--|
| Crop Name      | Unit     | ARC-CO Yield<br>Designation | 2024 Benchmark Yield (2018-22 olympic avg) | 2024 Benchmark Price (2018-22 olympic avg) | 2024<br>Benchmark<br>Revenue<br>per Acre | 2024<br>Revenue<br>Guarantee<br>per Acre | 2024<br>Maximum<br>Payment<br>Rate per<br>Acre | 2024/25<br>MYA Price<br>Projections | County Yield<br>for Min<br>Payment Rate<br>per Acre 1/ | County Yield<br>for Max<br>Payment<br>Rate per Acre<br>1/ | 2024-25<br>County Yield<br>Assumption<br>2/ | MYA Price<br>for Min<br>Payment<br>Rate per<br>Acre 1/ | MYA Price<br>for Max<br>Payment<br>Rate per<br>Acre 1/ |
| Barley         | Bushel   | All                         | 48.17                                      | \$5.07                                     | \$244.22                                 | \$210.03                                 | \$24.42  | \$6.44                              | 32.61  | 28.82   | 48.17                                       | \$4.36   | \$3.85   |
| Canola         | Pound    | All                         | -  | -  | -  | -  | -  | \$0.1996                            | -  | -   | -   | -  | -  |
| Corn           | Bushel   | All                         | 165.34                                     | \$4.85                                     | \$801.90                                 | \$689.63                                 | \$80.19  | \$4.43                              | 155.67   | 137.57  | 165.34                                      | \$4.17   | \$3.69   |
| Corn           | Bushel   | Irrigated                   | -  | -  | -  | -  | -  | \$4.43                              | -  | -   | -   | -  | -  |
| Corn           | Bushel   | Nonirrigated                | -  | -  | -  | -  | -  | \$4.43                              | -  | -   | -   | -  | -  |
| Grain Sorghum  | Bushel   | All                         | 44.60                                      | \$5.01                                     | \$223.45                                 | \$192.17                                 | \$22.35  | \$4.40                              | 43.67  | 38.60   | 44.60                                       | \$4.31   | \$3.81   |
| Oats           | Bushel   | All                         | 59.53                                      | \$3.38                                     | \$201.21                                 | \$173.04                                 | \$20.12  | \$3.52                              | 49.16  | 43.44   | 59.53                                       | \$2.91   | \$2.57   |
| Peanuts        | Pound    | All                         | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound    | Irrigated                   | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound    | Nonirrigated                | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound    | All                         | 2,805.00                                   | \$0.40                                     | \$1,110.22                               | \$954.79                                 | \$111.02                                       | \$0.3509                            | 2,720.95   | 2,404.59  | 2,805.00                                    | \$0.34   | \$0.30   |
| Seed Cotton    | Pound    | Irrigated                   | -  | -  | -  | -  | -  | \$0.3509                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound    | Nonirrigated                | -  | -  | -  | -  | -  | \$0.3509                            | -  | -   | -   | -  | -  |
| Soybeans       | Bushel   | All                         | 44.55                                      | \$11.12                                    | \$495.40                                 | \$426.04                                 | \$49.54  | \$10.65                             | 40.00  | 35.35   | 44.55                                       | \$9.56   | \$8.45   |
| Soybeans       | Bushel   | Irrigated                   | -  | -  | -  | -  | -  | \$10.65                             | -  | -   | -   | -  | -  |
| Soybeans       | Bushel   | Nonirrigated                | -  | -  | -  | -  | -  | \$10.65                             | -  | -   | -   | -  | -  |
| Sunflower Seed | Pound    | All                         | -  | -  | -  | -  | -  | \$0.2081                            | -  | -   | -   | -  | -  |
| Wheat          | Bushel   | All                         | 74.42                                      | \$6.21                                     | \$462.15                                 | \$397.45                                 | \$46.22  | \$6.00                              | 66.24  | 58.54   | 74.42                                       | \$5.34   | \$4.72   |
| Wheat          | Bushel   | Irrigated                   | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |
| Wheat          | Bushel   | Nonirrigated                | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2018-2022 county yields



|                | Mobile |                             |  |  |  |  |  |                                     | Assumes I<br>Proje                                     |   |   |  | ounty Yield  |
|----------------|--------|-----------------------------|--|--|--|--|--|-------------------------------------|--|---|---|--|--|
| Crop Name      | Unit   | ARC-CO Yield<br>Designation | 2024 Benchmark Yield (2018-22 olympic avg) | 2024 Benchmark Price (2018-22 olympic avg) | 2024<br>Benchmark<br>Revenue<br>per Acre | 2024<br>Revenue<br>Guarantee<br>per Acre | 2024<br>Maximum<br>Payment<br>Rate per<br>Acre | 2024/25<br>MYA Price<br>Projections | County Yield<br>for Min<br>Payment Rate<br>per Acre 1/ | County Yield<br>for Max<br>Payment<br>Rate per Acre<br>1/ | 2024-25<br>County Yield<br>Assumption<br>2/ | MYA Price<br>for Min<br>Payment<br>Rate per<br>Acre 1/ | MYA Price<br>for Max<br>Payment<br>Rate per<br>Acre 1/ |
| Barley         | Bushel | All                         | _  | _  | _  | _  | -  | \$6.44                              | _  | _   | _   | _  | _  |
| Canola         | Pound  | All                         | -  | -  | -  | _  | -  | \$0.1996                            | -  | -   | -   | -  | -  |
| Corn           | Bushel | All                         | 138.90                                     | \$4.85                                     | \$673.67                                 | \$579.36                                 | \$67.37  | \$4.43                              | 130.78   | 115.57  | 138.90                                      | \$4.17   | \$3.69   |
| Corn           | Bushel | Irrigated                   | -  | -  | -  | -  | -  | \$4.43                              | -  | -   | -   | -  | -  |
| Corn           | Bushel | Nonirrigated                | -  | -  | -  | -  | -  | \$4.43                              | -  | -   | -   | -  | -  |
| Grain Sorghum  | Bushel | All                         | 46.33                                      | \$5.01                                     | \$232.11                                 | \$199.61                                 | \$23.21  | \$4.40                              | 45.36  | 40.09   | 46.33                                       | \$4.31   | \$3.81   |
| Oats           | Bushel | All                         | -  | -  | -  | -  | -  | \$3.52                              | -  | -   | -   | -  | -  |
| Peanuts        | Pound  | All                         | 3,804.30                                   | \$0.27                                     | \$1,017.65                               | \$875.18                                 | \$101.77                                       | \$0.2535                            | 3,452.35   | 3,050.93  | 3,804.30                                    | \$0.23   | \$0.20   |
| Peanuts        | Pound  | Irrigated                   | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound  | Nonirrigated                | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound  | All                         | 1,800.43                                   | \$0.40                                     | \$712.61                                 | \$612.84                                 | \$71.26  | \$0.3509                            | 1,746.45   | 1,543.40  | 1,800.43                                    | \$0.34   | \$0.30   |
| Seed Cotton    | Pound  | Irrigated                   | -  | -  | -  | -  | -  | \$0.3509                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound  | Nonirrigated                | -  | -  | -  | -  | -  | \$0.3509                            | -  | -   | -   | -  | -  |
| Soybeans       | Bushel | All                         | 40.75                                      | \$11.12                                    | \$453.14                                 | \$389.70                                 | \$45.31  | \$10.65                             | 36.59  | 32.34   | 40.75                                       | \$9.56   | \$8.45   |
| Soybeans       | Bushel | Irrigated                   | -  | -  | -  | -  | -  | \$10.65                             | -  | -   | -   | -  | -  |
| Soybeans       | Bushel | Nonirrigated                | -  | -  | -  | -  | -  | \$10.65                             | -  | -   | -   | -  | -  |
| Sunflower Seed | Pound  | All                         | -  | -  | -  | -  | -  | \$0.2081                            | -  | -   | -   | -  | -  |
| Wheat          | Bushel | All                         | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |
| Wheat          | Bushel | Irrigated                   | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |
| Wheat          | Bushel | Nonirrigated                | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2018-2022 county yields



|                | Monroe |                             |  |  |  |  |  |                                     | Assumes I<br>Proje                                     |   |   | Assur  | County Yield mption                                    |
|----------------|--------|-----------------------------|--|--|--|--|--|-------------------------------------|--|---|---|--|--|
| Crop Name      | Unit   | ARC-CO Yield<br>Designation | 2024 Benchmark Yield (2018-22 olympic avg) | 2024<br>Benchmark<br>Price<br>(2018-22<br>olympic avg) | 2024<br>Benchmark<br>Revenue<br>per Acre | 2024<br>Revenue<br>Guarantee<br>per Acre | 2024<br>Maximum<br>Payment<br>Rate per<br>Acre | 2024/25<br>MYA Price<br>Projections | County Yield<br>for Min<br>Payment Rate<br>per Acre 1/ | County Yield<br>for Max<br>Payment<br>Rate per Acre<br>1/ | 2024-25<br>County Yield<br>Assumption<br>2/ | MYA Price<br>for Min<br>Payment<br>Rate per<br>Acre 1/ | MYA Price<br>for Max<br>Payment<br>Rate per<br>Acre 1/ |
| Barley         | Bushel | All                         | _  | _  | _  | _  | _  | \$6.44                              | _  | _   | _   | _  | _  |
| Canola         | Pound  | All                         | _  | _  | _  | _  | _  | \$0.1996                            | _  | _   | _   | _  | _  |
| Corn           | Bushel | All                         | 153.55                                     | \$4.85   | \$744.72                                 | \$640.46                                 | \$74.47  | \$4.43                              | 144.57   | 127.76  | 153.55                                      | \$4.17   | \$3.69   |
| Corn           | Bushel | Irrigated                   | -  | -  | -  | -  | -  | \$4.43                              | -  | -   | -   | -  | ,  |
| Corn           | Bushel | Nonirrigated                | -  | -  | _  | _  | -  | \$4.43                              | _  | -   | -   | -  | -  |
| Grain Sorghum  | Bushel | All                         | 45.33                                      | \$5.01   | \$227.10                                 | \$195.31                                 | \$22.71  | \$4.40                              | 44.39  | 39.23   | 45.33                                       | \$4.31   | \$3.81   |
| Oats           | Bushel | All                         | 51.33                                      | \$3.38   | \$173.50                                 | \$149.21                                 | \$17.35  | \$3.52                              | 42.39  | 37.46   | 51.33                                       | \$2.91   | \$2.57   |
| Peanuts        | Pound  | All                         | -  | -  | -  | -  | -  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound  | Irrigated                   | 4,677.38                                   | \$0.27   | \$1,251.20                               | \$1,076.03                               | \$125.12                                       | \$0.2535                            | 4,244.65   | 3,751.12  | 4,677.38                                    | \$0.23   | \$0.20   |
| Peanuts        | Pound  | Nonirrigated                | 4,462.10                                   | \$0.27   | \$1,193.61                               | \$1,026.50                               | \$119.36                                       | \$0.2535                            | 4,049.27   | 3,578.46  | 4,462.10                                    | \$0.23   | \$0.20   |
| Seed Cotton    | Pound  | All                         | -  | -  | -  | -  | -  | \$0.3509                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound  | Irrigated                   | 2,363.64                                   | \$0.40   | \$935.53                                 | \$804.56                                 | \$93.55  | \$0.3509                            | 2,292.82   | 2,026.25  | 2,363.64                                    | \$0.34   | \$0.30   |
| Seed Cotton    | Pound  | Nonirrigated                | 1,826.14                                   | \$0.40   | \$722.79                                 | \$621.60                                 | \$72.28  | \$0.3509                            | 1,771.42   | 1,565.46  | 1,826.14                                    | \$0.34   | \$0.30   |
| Soybeans       | Bushel | All                         | 42.98                                      | \$11.12  | \$477.94                                 | \$411.03                                 | \$47.79  | \$10.65                             | 38.59  | 34.11   | 42.98                                       | \$9.56   | \$8.45   |
| Soybeans       | Bushel | Irrigated                   | -  | -  | -  | -  | -  | \$10.65                             | -  | -   | -   | -  | i - I  |
| Soybeans       | Bushel | Nonirrigated                | -  | -  | -  | -  | -  | \$10.65                             | -  | -   | -   | -  | i -  |
| Sunflower Seed | Pound  | All                         | -  | -  | -  | -  | -  | \$0.2081                            | -  | -   | -   | -  | i -  |
| Wheat          | Bushel | All                         | 54.01                                      | \$6.21   | \$335.40                                 | \$288.44                                 | \$33.54  | \$6.00                              | 48.07  | 42.48   | 54.01                                       | \$5.34   | \$4.72   |
| Wheat          | Bushel | Irrigated                   | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | i - I  |
| Wheat          | Bushel | Nonirrigated                | -  | -  | -  | -  | -  | \$6.00                              | -  | -   | -   | -  | -  |

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2018-2022 county yields



| Мо             | ontgomery | 1                           |  |  |  |  |  |  |                                     | Assumes MYA Price<br>Projection                        |   |   | Assumes County Yie Assumption                          |  |
|----------------|-----------|-----------------------------|--|--|--|--|--|--|-------------------------------------|--|---|---|--|--|
| Crop Name      | Unit      | ARC-CO Yield<br>Designation | 2024 Benchmark Yield (2018-22 olympic avg) | 2024 Benchmark Price (2018-22 olympic avg) | 2024<br>Benchmark<br>Revenue<br>per Acre | 2024<br>Revenue<br>Guarantee<br>per Acre | 2024<br>Maximum<br>Payment<br>Rate per<br>Acre |  | 2024/25<br>MYA Price<br>Projections | County Yield<br>for Min<br>Payment Rate<br>per Acre 1/ | County Yield<br>for Max<br>Payment<br>Rate per Acre<br>1/ | 2024-25<br>County Yield<br>Assumption<br>2/ | MYA Price<br>for Min<br>Payment<br>Rate per<br>Acre 1/ | MYA Price<br>for Max<br>Payment<br>Rate per<br>Acre 1/ |
| Barley         | Bushel    | All                         | 48.17                                      | \$5.07                                     | \$244.22                                 | \$210.03                                 | \$24.42  |  | \$6.44                              | 32.61  | 28.82   | 48.17                                       | \$4.36   | \$3.85   |
| Canola         | Pound     | All                         | -  | -  | -  | -  | -  |  | \$0.1996                            | -  | -   | -   | -  | -  |
| Corn           | Bushel    | All                         | 133.35                                     | \$4.85                                     | \$646.75                                 | \$556.21                                 | \$64.68  |  | \$4.43                              | 125.55   | 110.95  | 133.35                                      | \$4.17   | \$3.69   |
| Corn           | Bushel    | Irrigated                   | -  | -  | -  | -  | -  |  | \$4.43                              | -  | -   | -   | -  | -  |
| Corn           | Bushel    | Nonirrigated                | -  | -  | -  | -  | -  |  | \$4.43                              | -  | -   | -   | -  | -  |
| Grain Sorghum  | Bushel    | All                         | 43.67                                      | \$5.01                                     | \$218.79                                 | \$188.16                                 | \$21.88  |  | \$4.40                              | 42.76  | 37.79   | 43.67                                       | \$4.31   | \$3.81   |
| Oats           | Bushel    | All                         | 48.33                                      | \$3.38                                     | \$163.36                                 | \$140.49                                 | \$16.34  |  | \$3.52                              | 39.91  | 35.27   | 48.33                                       | \$2.91   | \$2.57   |
| Peanuts        | Pound     | All                         | -  | -  | -  | -  | -  |  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound     | Irrigated                   | -  | -  | -  | -  | -  |  | \$0.2535                            | -  | -   | -   | -  | -  |
| Peanuts        | Pound     | Nonirrigated                | -  | -  | -  | -  | -  |  | \$0.2535                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound     | All                         | 1,747.32                                   | \$0.40                                     | \$691.59                                 | \$594.77                                 | \$69.16  |  | \$0.3509                            | 1,694.96   | 1,497.89  | 1,747.32                                    | \$0.34   | \$0.30   |
| Seed Cotton    | Pound     | Irrigated                   | -  | -  | -  | -  | -  |  | \$0.3509                            | -  | -   | -   | -  | -  |
| Seed Cotton    | Pound     | Nonirrigated                | -  | -  | -  | -  | -  |  | \$0.3509                            | -  | -   | -   | -  | -  |
| Soybeans       | Bushel    | All                         | 36.21                                      | \$11.12                                    | \$402.66                                 | \$346.29                                 | \$40.27  |  | \$10.65                             | 32.51  | 28.73   | 36.21                                       | \$9.56   | \$8.45   |
| Soybeans       | Bushel    | Irrigated                   | -  | -  | -  | -  | -  |  | \$10.65                             | -  | -   | -   | -  | -  |
| Soybeans       | Bushel    | Nonirrigated                | -  | -  | -  | -  | -  |  | \$10.65                             | -  | -   | -   | -  | -  |
| Sunflower Seed | Pound     | All                         | -  | -  | -  | -  |  |  | \$0.2081                            | -  | -   | -   | -  | -  |
| Wheat          | Bushel    | All                         | 56.33                                      | \$6.21                                     | \$349.81                                 | \$300.84                                 | \$34.98  |  | \$6.00                              | 50.14  | 44.31   | 56.33                                       | \$5.34   | \$4.72   |
| Wheat          | Bushel    | Irrigated                   | -  | -  | -  | -  | -  |  | \$6.00                              | -  | -   | -   | -  | -  |
| Wheat          | Bushel    | Nonirrigated                | -  | -  | -  | -  | -  |  | \$6.00                              | -  | -   | -   | -  | -  |

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2018-2022 county yields



|                            | Morgan          |                             |  |  |  |  |  |  | Assumes MYA Price<br>Projection     |  |   |   | County Yield mption                                    |  |
|----------------------------|-----------------|-----------------------------|--|--|--|--|--|--|-------------------------------------|--|---|---|--|--|
| Crop Name                  | Unit            | ARC-CO Yield<br>Designation | 2024<br>Benchmark<br>Yield<br>(2018-22<br>olympic avg) | 2024 Benchmark Price (2018-22 olympic avg) | 2024<br>Benchmark<br>Revenue<br>per Acre | 2024<br>Revenue<br>Guarantee<br>per Acre | 2024<br>Maximum<br>Payment<br>Rate per<br>Acre |  | 2024/25<br>MYA Price<br>Projections | County Yield<br>for Min<br>Payment Rate<br>per Acre 1/ | County Yield<br>for Max<br>Payment<br>Rate per Acre<br>1/ | 2024-25<br>County Yield<br>Assumption<br>2/ | MYA Price<br>for Min<br>Payment<br>Rate per<br>Acre 1/ | MYA Price<br>for Max<br>Payment<br>Rate per<br>Acre 1/ |
| Barley                     | Bushel          | All                         | 48.17  | \$5.07                                     | \$244.22                                 | \$210.03                                 | \$24.42  |  | \$6.44                              | 32.61  | 28.82   | 48.17                                       | \$4.36   | \$3.85   |
| Canola                     | Pound           | All                         | 48.17<br>1,505.67                                      | \$5.07<br>\$0.23                           | \$244.22                                 | \$210.03                                 | \$24.42  |  | \$6.44<br>\$0.1996                  | 1,516.08   | 1,339.83  | 1,505.67                                    | \$4.36<br>\$0.20                                       | \$3.85   |
|                            |                 | All                         | ,  | •  |  |  | ,  |  |                                     |  | ,   |   |  | ,  |
| Corn                       | Bushel          | <i>,</i>                    | 170.15   | \$4.85                                     | \$825.23                                 | \$709.70                                 | \$82.52  |  | \$4.43                              | 160.20   | 141.58  | 170.15                                      | \$4.17   | \$3.69   |
| Corn                       | Bushel          | Irrigated                   | -  | -  | -  | -  | -  |  | \$4.43                              | -  | -   | -   | -  | i - I  |
| Corn                       | Bushel          | Nonirrigated                | -  | -<br>ć= 01                                 | -<br>6240.02                             | -<br>¢207.11                             | -<br>624.00                                    |  | \$4.43                              | 47.07  | -   | 40.07                                       | -<br>ć4.24   | \$3.81   |
| Grain Sorghum              | Bushel          | All                         | 48.07  | \$5.01                                     | \$240.83                                 | \$207.11                                 | \$24.08  |  | \$4.40                              | 47.07  | 41.60   | 48.07                                       | \$4.31   | ,  |
| Oats                       | Bushel          | All                         | 46.67  | \$3.38                                     | \$157.74                                 | \$135.66                                 | \$15.77  |  | \$3.52                              | 38.54  | 34.06   | 46.67                                       | \$2.91   | \$2.57   |
| Peanuts                    | Pound           | All                         | -  | -  | _  | -  | -  |  | \$0.2535                            | -  | -   | -   | -  | i - I  |
| Peanuts                    | Pound           | Irrigated                   | -  | -  | _  | -  | -  |  | \$0.2535<br>\$0.2535                | -  | -   | -   | -  | i - I  |
| Peanuts                    | Pound           | Nonirrigated                | 2 246 45   | -<br>ć0.40                                 | -<br>6000 14                             | -<br>6764.66                             | -<br>600.01                                    |  | \$0.2535<br>\$0.3509                | 2 170 11   | 1 025 76  | 2 246 45                                    | -<br>\$0.34  | ć0.20  |
| Seed Cotton<br>Seed Cotton | Pound           | All                         | 2,246.45   | \$0.40                                     | \$889.14                                 | \$764.66                                 | \$88.91  |  | \$0.3509                            | 2,179.11   | 1,925.76  | 2,246.45                                    | \$0.34   | \$0.30   |
| Seed Cotton                | Pound           | Irrigated                   | -  | -  | _  | -  | -  |  | \$0.3509                            | -  | -   | -   | -  | -  |
|                            | Pound<br>Bushel | Nonirrigated<br>All         | 41.22  | -<br>ć11 12                                | -<br>64E0 49                             | -<br>620F 1F                             | ¢45.05   |  |                                     | 37.10  | 22.70   | 41.22                                       | ¢0.56  | ςο.4E  |
| Soybeans<br>Soybeans       | Bushel          |                             | 41.32  | \$11.12                                    | \$459.48                                 | \$395.15                                 | \$45.95  |  | \$10.65<br>\$10.65                  | 37.10  | 32.79   | 41.32                                       | \$9.56   | \$8.45   |
| ,                          | Bushel          | Irrigated                   | -  | -  | _  | -  | -  |  |                                     | -  | -   | -   | -  | i - I  |
| Soybeans<br>Sunflower Seed | Pound           | Nonirrigated<br>All         | 1.101.00   | \$0.23                                     | \$254.11                                 | \$218.53                                 | \$25.41  |  | \$10.65<br>\$0.2081                 | 1,050.07   | 928.02  | 1.101.00                                    | \$0.20   | \$0.18   |
| Wheat                      | Bushel          |                             | 77.60  |  | , -                                      | \$218.53<br>\$414.43                     | , -  |  |                                     | 69.07  |   | ,   | \$0.20<br>\$5.34                                       | ,  |
| Wheat                      | Bushel          | All                         | 77.60  | \$6.21                                     | \$481.90                                 | \$414.43                                 | \$48.19  |  | \$6.00<br>\$6.00                    | 09.07  | 61.04   | 77.60                                       | \$5.34   | \$4.72   |
|                            | Bushel          | Irrigated                   | -  | -  | _  | -  | -  |  | \$6.00<br>\$6.00                    | _  | -   | -   | -  | i -  |
| Wheat                      | Busnel          | Nonirrigated                | -  | -  | -  | -  | -  |  | \$6.00                              | -  | -   |   | -  |  |

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2018-2022 county yields